
SAP ABAP table REEX_AR_CLEARING {ALV Grid Structure: Clearing of Receivables}

REEX_AR_CLEARING

BSCHL [CHAR (2)]

UMSKZ [CHAR (1)]

HKONT [CHAR (10)]

KUNNR [CHAR (10)]

MWSKZ [CHAR (2)]

GSBER [CHAR (4)]

ZLSCH [CHAR (1)]

ZLSPR [CHAR (1)]

HBKID [CHAR (5)]

HKTID [CHAR (5)]

MABER [CHAR (2)]

MANSP [CHAR (1)]

VBEWA [CHAR (4)]

TXJCD [CHAR (15)]

LZBKZ [CHAR (3)]

LANDL [CHAR (3)]

KNB1

MANDT [CLNT (3)]

KUNNR [CHAR (10)]

BUKRS [CHAR (4)]

 REEX_AR_CLEARING-KUNNR = KNB1-KUNNR 
0..N

0..N

SKB1

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

SAKNR [CHAR (10)]

 REEX_AR_CLEARING-HKONT = SKB1-SAKNR 
0..N

0..N

T005

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

 REEX_AR_CLEARING-LANDL = T005-LAND1 
0..N

1

T007A

MANDT [CLNT (3)]

KALSM [CHAR (6)]

MWSKZ [CHAR (2)]

 REEX_AR_CLEARING-MWSKZ = T007A-MWSKZ 
0..N

0..N

T008

MANDT [CLNT (3)]

ZAHLS [CHAR (1)]

 REEX_AR_CLEARING-ZLSPR = T008-ZAHLS 
0..N

0..N

T012

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

HBKID [CHAR (5)]

 REEX_AR_CLEARING-HBKID = T012-HBKID 0..N

0..N

T012K

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

HBKID [CHAR (5)]

HKTID [CHAR (5)]

 REEX_AR_CLEARING-HKTID = T012K-HKTID 0..N

0..N

T015L

MANDT [CLNT (3)]

LZBKZ [CHAR (3)]

 REEX_AR_CLEARING-LZBKZ = T015L-LZBKZ 
0..N

1

T040S

MANDT [CLNT (3)]

MANSP [CHAR (1)]

 REEX_AR_CLEARING-MANSP = T040S-MANSP 

0..N

0..N

T042Z

MANDT [CLNT (3)]

LAND1 [CHAR (3)]

ZLSCH [CHAR (1)]

 REEX_AR_CLEARING-ZLSCH = T042Z-ZLSCH 

0..N

0..N

T047M

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

MABER [CHAR (2)]

 REEX_AR_CLEARING-MABER = T047M-MABER 

0..N

0..N

T074U

MANDT [CLNT (3)]

KOART [CHAR (1)]

UMSKZ [CHAR (1)]

 REEX_AR_CLEARING-UMSKZ = T074U-UMSKZ 

0..N

{0,1}

TBSL

MANDT [CLNT (3)]

BSCHL [CHAR (2)]

 REEX_AR_CLEARING-BSCHL = TBSL-BSCHL 

0..N

1

TGSB

MANDT [CLNT (3)]

GSBER [CHAR (4)]

 REEX_AR_CLEARING-GSBER = TGSB-GSBER 

0..N

0..N

TTXJ

MANDT [CLNT (3)]

KALSM [CHAR (6)]

TXJCD [CHAR (15)]

 REEX_AR_CLEARING-TXJCD = TTXJ-TXJCD 

0..N

0..N

TZB0A

MANDT [CLNT (3)]

RANTYP [CHAR (1)]

SBEWART [CHAR (4)]

 REEX_AR_CLEARING-VBEWA = TZB0A-SBEWART 

0..N

0..N


